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Solve the following problems in the space provided. Show your work to receive full credit.
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~ 1) How many moles are in 3.67 x 10%* atoms of silver (Ag)?
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2) Find the molarity of a 633 mL solution containing 17.5 g of MgSOQ..
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3) How many grams of CuCl; are required to make 96 mL of a 0.30M solution?
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— 4) How many water molecules are in 127.3 grams of water (H,0)?
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5) Calculate the percentage composition of nitric acid (HNO;).
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6) Calculate the mass percentage of water in CoCl, * 6 H;0O.
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7) Answer both parts of question 7.

a. A compound is composed of 54.05% Ca, 43.24% O, 2.71% H. Find the empirical
formula.

54.050.Cox| Imel Ca . .
|40.08 g . ~ | Ca

- 2.70 mol O c‘kozHg
[ 16 e Y2
i B ¢
H [CoH), |
2Ty | dmel B2 g gmol B 5 1 (0H),
.ol 135l
b. If the substance from gart (a) has a molecular formula mass of 222 g/mol, find its
molecular formula.
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